
1 model = Model(...)

2 dt, nt = <timestepping parameters>

3

4 # Define source and receiver geometry

5 src = RickerSource(...)

6 rec = Receiver(...)

7

8 # Create forward and gradient operators

9 op_fwd = forward(model, src, rec, order)

10 op_grad = gradient(model, rec, order)

11

12 # Run FWI with gradient descent

13 for i in range(0, fwi_iterations):

14 # Compute functional value and gradient

15 # for the current model estimate

16 phi, direction = fwi_gradient(model.m)

17

18 # Artificial Step length for gradient descent

19 alpha = .005 / np.max(direction)

20

21 # Update the model estimate and inforce

22 # minimum/maximum values

23 m_updated = model.m.data - alpha*direction

24 model.m.data[:] = box_constraint(m_updated)


